1. In a certain code, ‘ROAMING’ is written as ‘APRNGOI’. How would ‘PLATEAU’ be written in the same code? (1) AMPTUBE (2) PMAUEBU (3) ALPUUAE (4) AMPUUBE (5) None of these

2. Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
(1) Horse (2) Donkey (3) Cow (4) Goat (5) Dog

3. How many meaningful English words can be formed with the letters of the word ‘STOP’ each using only once in a word but in different sequence, starting with the letter P?
(1)None (2) Two (3) One (4) Three (5) More than three

4. ‘Mother’ is related to ‘Offspring’ in the same way as ‘Tree’ is related to
(1) Sapling (2) Fruit (3) Root (4) Stem (5) None of these

5. In a certain code, ‘SPRING’ is written as ‘#2%@4=’ and ‘GONE’ is written as ‘=74©’. How would SIGN be written in the same code?
(1)#@4= (2)2@=4 (3) #@=4 (4) #%=4 (5) None of these

6. Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
(1) June (2)Year (3) Week (4) Month (5) Day

7. ‘Date’ is related to ‘Calendar’ in the same way as ‘Time’ is related to
(1) Day (2) Hour (3) Sun (4) Clock (5) None of these

8. Pointing to Raju, Ayesha says “He is the son of my mother’s brother’s wife”. How is Ayesha related to Raju?
(1) Sister (2) Niece (3) Cousin Sister (4) Data inadequate (5) None of these

9. Tom walked 10 miles from Point P towards the East. He then took right turn and walked 5 miles and taking another right turn walked again for another 5 miles. In which direction is Point P from where Tom is standing now?
(1) West (2) North-West (3) North-East (4) Cannot be determined (5) None of these

10. Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
(1)21 (2)51 (3) 63 (4) 15 (5)23

11. If ‘green’ is called ‘white’, ‘white’ is called ‘yellow’, ‘yellow’ is called ‘blue’, ‘blue’ is called ‘pink’ and ‘pink’ is called ‘black’, then what is the colour of milk?
(1) green (2) blue (3) pink (4) yellow (5) None of these

12. How many such pairs of letters are there in the word CONTROL each of which has as many letters between them in the word as in the English alphabet?
(1) None (2) One (3) Two (4) Three (5) More than Three

13. In a group of six children T, K, V, O, M and W,T is fatter than M but not as fat as W. K is not the fattest nor is W whereas V is the thinnest. Who is the fattest among them all?
(1)O (2)T (3)M (4) Data inadequate (5) None of these

14. In a certain code language, ‘TEMPORARY’ is written as ‘SFLQOQBOZ’. How would ‘WONDERFUL’ be written in the same code?
(1) VPMEFQGTM (2) VPMEESGTM (3) XPMEEQGTM (4) VPMEESEVK (5) None of these

15. ‘Teacher’ is related to ‘students’ in the same way as ‘Coach’ is related to (1) Team (2) Player (3) Sports (4) Play (5) None of these

Directions (16-20) : Study the following arrangement of letter-number-symbol and answer the questions given below:

K3A VTR = 7BME4WS @JN9PUC Z5ODIQG LY

16. How many such numbers are there in the above arrangement each of which is preceded by symbol and immediately followed by a Vowel?
(1) None (2) One (3) Two (4) Three (5) More than three

17. In the above arrangement what should come in the place of the question-mark (?) in the following series? AKVT =TRMEBW?
(1)SW@ (2)S4J (3)S4@ (4)@WH (5) None of these

18. How many such Consonants are there in the above arrangement, each of which is preceded by symbol and immediately followed by a number?
(1)One (2)Two (3) Three (4) None (5) None of these

19. In the above arrangement if the first twenty elements are written in the reverse order then what is the Sixth element to the left of eighteenth element from the left?
(1)B (2)= (3)7 (4)E (5) None of these

20. Four of the following five are alike in a certain way based on their positions in the above arrangement and form a group. Which is the one that does not belong to that group?
(1) CP (2) @WJ 3) 7RB (4) IOQ 5)A3V

Directions (Q. 21-25) : In each of the questions below are given four statements followed by three conclusions numbered I, II & III. You have to take the given statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions logically follows from the given statements disregarding commonly known facts.

21. Statements: Some plates are spoons.
All spoons are forks. All forks are bowls. Some bowls are utensils.
Conclusions: I. Some plates are bowls.
II. All spoons are bowls.
III. Some forks are utensils.
1) Only I follows 2) Only II follows 3) Only I and III follow 4) Only I and II follow 5) None of these

22. Statements: Some books are files.
All files are discs. Some discs are boards. All boards are keys.
Conclusions:
I. Some books are keys.
II. No book is key.
III. Some discs are keys.

1) Only III follows 2) Only I and III follow 3) Either I or II and III follow 4) All follow 5) None of these

23. Statements: All buses are trains.
Some trains are cars. No car is scooter.
All scooters are jeeps. Conclusions:
I. Some cars are buses.
II. All jeeps are scooters.
III. No jeep is train.

l)Only I follows 2) Only II follows 3) Only III follows 4) Only either I or III follows 5) None follows

24. Statements: All curtains are pillows.
No pillow is mattress. Some mattresses are beds. All beds are sofas.
Conclusions: I. No bed is pillow.
II. Some mattresses are sofas. III. Some beds are pillows.

1) Only either I or III follows 2) Only II follows

3) Only II and either I or III follow 4) Only I and II follow

5) All follow

25. Statements: Some pulses are grains.
Some grains are sprouts. All sprouts are nuts.
No fruit is nut. Conclusions : I. Some nuts are pulses.
II. Some nuts are grains. III. No fruit is sprout.
1) Only II and III follow 2) Only I and II follow
3) Only either I or II follows 4) None follows 5) None of these

Directions (Q. 26-30): In each of these questions, a group of digits is given followed by four combinations of letters and symbols numbered (1), (2), (3) and (4). The groups of digits are to be coded as per the scheme and conditions given below. You have to find out which of the combinations (1), (2), (3) and (4) correctly represents the group of digits. The serial number of that combination is your answer. If none of the four combinations is correct, your answer is (5), ie ‘None of these’.

Digits: 5 4 7 8 1 6 2 9 3 0

Code: R L $ # T @ J F %

Conditions:
(i) If the first digit is odd and the last digit is even, the codes for the first and the last digit are to be interchanged. (ii) If the first as well as the last digit is odd, both are to be coded by X’.
(iii) If the first as well as the last digit is even, both are to be coded by ‘*’

26. 450326
l)XR %JX 2)LR %J@ 3)*R %J* 4)@R %JL 5) None of these

27. 341758
1)#LT$R% 2)%R$TL# 3)%LT$R# 4)#L$TR% 5) None of these

28. 659327
1)$RF%J@ 2)@RF%J@ 3)$RF%J$ 4)@RF%J$5) None of these

29. 704829
1) * L#J* 2)X L#JX 3)*@L%J* 4)$ L#J$ 5) None of these

30. 564328
1)R@L%J# 2)X@L%JX 3)*@L%J* 4)#@L%J# 5) None of these

Directions (Q. 31-35): Study the following information carefully to answer the questions given below it.
Seven professionals A, B, C, D, E, F and G are practising their professions in different cities Chennai, Bangalore, Hyderabad, Mumbai, Ahmedabad, Jaipur and Bhubaneshwar, not necessarily in the same order. Each has a different profession—Doctór, Engineer, Pharmacist, Lawyer, Counsellor, Professor and Artist, not necessarily in the same order.

A is a Pharmacist and practises in Bhubaneshwar. D practises in Bangalore but is not a Doctor or an Artist. The one who practises in Hyderabad is a Professor. G is a Counsellor and does not practise in Mumbai or Chennai. E is a Lawyer and practises in Ahmedabad. F practises in Chennai but is not an artist. C practises in Mumbai.

31. What is D’s profession? -

1) Doctor 2) Professor 3) Engineer 4) Cannot be determined 5) None of these

32. Who is the Professor?

1)B 2)C 3)D 4)E 5) None of these

33. Which of the following combinations of profession and place is correct?

1) Pharmacist – Jaipur 2) Engineer – Chennai 3) Doctor – Bangalore 4) Artist – Mumbai 5) None of these

34. Which of the following persons works in Jaipur?

1)B 2)G 3)C 4)B or G 5) None of these

35. Who is the Doctor? -

1)D 2)B 3)C 4)B or C 5) None of these

